Warm-up: before Completing the Square Period: ___

1. Given the graph of f(x) f(x)=
a) State the y-intercept ([).0Q)

b) State the x-intercepts {-Ll. 0) and ([ 0)

¢) Write the equation of the function

a
f(x)= (X +o ) “Y  inventexfomn
fx) = (X'HXX ) in factored form
'PO() x + 4x in standard form

2. Given the graph of g(x) g(x)=
a) State the y-intercept (0,"1)

b) State the x-intercept (50 )
¢) Write the equation of the function
- X
g(x)= (x -3 ) in vertex form

g &)= -—(x,_ﬁx.%) in factored form

g(x')——r_)t —*'3“-“3"+ﬂ in standard form
qx) =-Lx 2 yx+9)
q Q) = —x*+x—9

Determine the x-intercepts and y-intercept.
Draw a rough sKketch of the function.

3. h(x)=(x-1)(x+3) 4. k(x)=—(x—1)x+3)

x-intercepl(s): ( j 3 O) ("3 0) X-intercept(s): (:'5 ) D)( }D)

y-intercept: (D 3‘3! (Oé'ggg;':) y-intercept: () : 51 Dégitﬂ




3 interchangeable terms for the point(s) where a function crosses the x-axis

Solutions ZeroS Y ooTS

X —intercepts
|

List 4 of the methods to solve quadratic equations we have discussed in class

) Quadwdic Brmula, ) Snyare Rosts
2) Fatsl'orfnd 4) Gylﬁf‘“ﬂs Cdawdatve

Different forms of a quadratic equation

Standard Form Intercept Form Vertex Form

f(x)=x"+2x-8 f(X)=(x+4)x-2) fO)=(x+1) -9

£eo) = (0 +20)-8 it

-Ff:)): —-g X-int (‘!10)(&J O) Vertex ¢1,)
'1-(0-?);;;5;@;;:=;

g‘\c‘{;{.o“ i

%8 h')

Vertex form of a quadratic equation / PR Qp

f(x)=(x—h)+k vertex: ( h lk )



Given each graph,
(a) determine the vertex and
(b) write the equation of the function in vertex form

10+
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-10
1. Vertex: ( | . -‘1} 2. Vertex: (g, , q )

Equation: (X*I) ‘1 0 Equation: (X")’a\\ +0[ O

Given an equation: Find  (a) vertex, (b) if the vertex is a maximum or minimum,
(¢) y-intercept, (d) then, sketch a rough graph
3 fx)=(x+1)+4 4, f(x)=—3x—-2)+8
vertex: (| ,4 vertex: (X ,%)

maximum / V / minimum
y-intercept: ([),5 ) 3 y-intercept: (§ ,~Y4) 2 ¢

(o+) (0 -?Q .
/6 ay+¥ ko *

(¥ ¢ @b
; , -—‘\




v 2
Given an equation: Rewrite the equation in the form of f (’f) =(x— h)_ +k

(a) vertex, (b) if the vertex is a maximum or minimum,
(c) y-intercept, (d) then, sketch a rough graph
5. f(x)=x"+6x+1 6. flx)=x" —2r 8
[ ir] 2] -
2)” (> & ) (1)
flx)=x"+6x 'l"q +1 —-C‘T ?(K)= X #g‘x +] _"3:—|—_.
'b.._.."‘\"-_.._../

f)=( X+ +1_~ EI G{)—- (1(‘—1) —‘8 "'_[_
fo=(x+3)y =% ?0‘)-_- (X_.| ) ,__ﬂ_

vertex: (-3,-%) ;t 7
maximum /
y-intercept: ( () .1 )




